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In the following figure, AB be
diameter of a circle whose centre

is O. f £ZA0OE = 150°, ADAD =
51°, then the measure of ~CBE
i5—

L
E
Ellﬂ 150“
A = S
(A) 115° (B) 110°
(C) 105° (D) 120°

If the square of the sum of two
numbers is equal to 4 times of
their product, then the ratio of
these numbers is—

(A) 21 (B) 1:3

(C) 1:1 (D) 1:2

If 22+ b% = 5ab, then the value of
a2 b ) ;
Rtz ) is—

(A) 32 (B) 16

(C) 23 (D) — 23

In a big garden 60% of the trees
are coconut trees, 25% of the
number of coconut trees are
mango trees and 20% of the
number of mango trees are apple
trees. Ifthe number of apple trees
are 1500, then the number of

trees in the garden is—
(A) 48,000 (B) 50,000
(C) 51,000 (D) 45,000

A sum of money placed at
compound interest doubles itself
in 5 years. It will amount to eight
times itself in—
(A) 15years (B) 12 years
(C) 10 years (D) 20 years
Minimum value of

4 tan® 0 + 9 cot® B is—
(A) 12 (B) 1
(C) B (D) 13
If 50% of (P - Q)= 30% of (P + Q)
and Q = x% of P, then the value
of x is—

(A) 30 (B) 25
(C) 20 (D) 50
If sin@ —cosb = ;, the wvalue
of sind + cosf is—
(A) —2 B) £2
=
VT
© 5 (D) 2
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134,
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137.
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139,

140.

If cosec B - cot 6 = ; the value
of cosec fl is—
47 51
W) 28 (B) 28
53 49
(C) 5g (D) o5
If x = V3 -2 s V3 442
Y3 +14/2 A3 -2’
then the value of x* + y* is—
(A) 950 (B) 730
(C) 650 (D) 970

A single discount equivalent to
the following three successive
discounts of 30%, 20% and 10%
is given by—
(A) 49-68%

(C) 49-40%

(B) 50-60%

(D) 50-40%

The greatest among the following
numbers of 313, 212 { g1 jg—
(A) 21 (B) 1

{G} G51/6 ED] L

The areas of two similar triangles
ABC and DEF are 20 cm? and 45
cm? respectively. If AB = 5 em,
then DE is equal to—

(A) 65cm  (B) 7-5¢cm

{C) 8-5cm (D) 5-5cm

In atriangle ABC, BC is produced
o D so that CD=AC.If £ BAD
=111" and £ ACB = 80°, then
the measure of £ ABC is—

(A) 31° (B) 33°
(C) 35° (D) 29°

In AABC, ZAA + £B = 145° and

L0 + 2B = 180°. State which
one of the following relation is
true—

(A) CA=AB (B) CA<AB
(C) BC=>AB (D) CA=AB

If the volumes of two right
circular cones are intheratio4 : 1
and their diameters are in the
ratio 5 : 4, then the ratio of their
heights is—

(A) 25:16 (B) 25 :64

(C) 64 :25 (D) 16 : 25

The proportion of acid and water
in 3 samples is 2:1, 3:2and
5 : 3. A mixture containing equal
guantities of all 3 samples is

141.

made. The ratio of water and
acid in the mixture is—

(A) 120:133 (B) 227:133
(C) 227 :120 (D) 133 :227
A train 270 metre long is running
at a speed of 36 km per hour,;

then it will cross a bridge of length
180 metre in—

(A) 40sec  (B) 45 sec
(C) 50 sec (D) 35 sec

Directions— (). 142 to 145) The

following table shows the productions
of foodgrain {in million ton) in a state
for the period 1999-2000 to 2003-04.
Read the table and answer the ques-

tions.
Production
Year {in million tons)
Wheat | Rice | Barley | Other
cereals
1999-2000 &80 270 250 480
2000-01 800 420 440 300
2001-02 Ga0 350 320 460
2002-03 T20 400 380 500
2003-04 820 B80 410 690
142, In  2002-03, the percentage

143.

144,

145,

increase in the production of
barley as compared to the pre-
vious year was—

(A) 14:20 (B) 17-85
(C) 1875 (D) 7-90
During the period 1999-2000 to
2003-2004, x per cent of the total

production is praoduction of wheat.
The value of x is about—

(A) 126 (B) 37-4
(C) 378 (D) 20-2
In the year 2003-04, the increase

in production was maximum over
the previous year for—

(A) Rice (B} Barley
(C) Other cereals (D) Wheat
The difference of average produc-
tion of rice and the average pro-

duction of barley over the years
is—

(A) 50 (B) 60
(C) 80 (D) 40
Directions—(Q. 146-150) Pro-

duction of three different flavours soft
drinks X, Y and Z over a period of six
years has been expressed in the
following graph. Study the graph and
answer the questions.
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